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Instructions for Candidates

1. This paper consists of 6 questions. Answer any 4 questions
2. All questions carry equal marks. (18.75)

3. Answers may be written either in English or in Hindi, but the same medium should be

used throughout the paper
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Q1. A) What is GDP deflator? How is it different from consumer price index? How does CPI
inflation overstate the increase in cost of living?
B) Given the following information (in crore rupees):

Investment (1)=60

Government Purchases (G)=50

Gross National Product (GNP)=500

Current Account Balance= -30

Tax (T)=100
Transfer Payment (TR)=40
Interest Payment on government debt=20

Net Factor payments from abroad (NFIA) =-5



Compute:
1. GDP
2. Net Export
3. Consumption
4. Private Savings
5. Government Savings
C) Explain the Balance of Payment. (8.75,5,5)

1. A) TF T4 SCTE ATEhITT FAT §? TE STHIKT o TAHH T Hdl AT 5?2 ITHIH
T AT AT STTa I o1 ARG § Jag Bl he AL od Lt 82
B) fMeferfad STt & 3@d gu (FIE 797 H):

frrer (1)=60

T =T (G)=50

e T IeaT (GNP)=500

=T @TaT a9= -30

F7 (T)=100

EEATAYT o ST (TR)=40

LA FR0T T TS A =20
fager & amu e e srar (NFIA) = -5
TOTET Y
1. T T ICATE (STIETT)
2. g5 T
3. ITANT
4. fsft a=a

5. ALHTLT T9d
C) S3TATT | sl SATEAT H1 | (8.75,5,5)

Q2. A) Assume that the demand for real money balances is represented by the following:
M/P=YT0.4-(r + expected inflation)]
Where, Nominal Income (Y) = Rs. 4000
Real interest rate R=5%



Expected inflation=5% is constant in short run
i.  Calculate seigniorage, if the rate of growth of nominal money is 12 per cent
forever.
ii.  Calculate the inflation tax when actual inflation equals 5 per cent. Is it equal to
seigniorage?
B) What are the reasons for hyperinflation? Can hyperinflation end through Stabilization
Programs?
C) Briefly explain following concepts:
i.  Money Multiplier
ii.  Quantity Theory of Money (4,6.75,6)
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Q3. A) Describe the functions of money. Who controls the money supply and how? Discuss

it.

B) What is real interest rate? If inflation rises from 5 per cent to 8 per cent, the real interest

rate changes from 7 per cent to 10 per cent, then, according to Fisher effect, what will happen

to the nominal interest rate?

C) What is the social cost of expected inflation? Is there any benefit of inflation? Discuss it.
(8,4,6.75)
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Q4. A) Derive LM curve. Under what circumstances might the LM curve be horizontal?
B) What is the effect of an increase in income tax rate on IS curve, equilibrium output
and interest rate?
C) The following equations describe the economy:
Consumption Function, C=50+0.8Yd
Investment, 1=70
Government Spending, G=200
Transfer Payment, TR=100
Tax Rate, t=0.20
i.  Calculate the equilibrium level of income and multiplier.
ii.  Calculate the budget surplus.
iii.  Suppose that t increases to 0.25. Then, what is the new equilibrium income and
the new multiplier?
iv.  Calculate the change in budget surplus. Would you expect the change in surplus
to be more or less if c=0.9 rather than 0.8? (6.75,6,6)

4. A) LM %% cqe FILM a5 o afeieefaa & &St gf v 872
B) 3 aX # gfg FT IS a3, A IcaTad 3M¥ 4TS &¥ I¥ AT THE 872

C) Meferiad qHTehevT THeAaedT FT T Hild 5.
gqq =¥, C=50+0.8Yd

frer, 1=70
TR @+, G=200
EATALT o SFTaTE, TR=100



FT 37, 1=0.20
i. ST T IO & HIAT &AL Al TIEAT el
i. &t srfgrore Fi T FY
jii. AT AT T t 0.25 BT STaT 2| T, T3 S o i< 737 07 F47 87
iv. ot Aferer | giEde dv TOET HE| FAT AT FUAT HT o 0.8 F T ¢=0.9 T,
T ATTAT | TRETH FHF AT SATET GIEIT? (6.75,6,6)

Q5. A) Consider an economy with the following specification:
Consumption Function, C=100+0.75Yd
Investment, 1=200-50i
Government Spending, G=300
Tax, T=0.20Y
Demand for money, M%=0.10Y-12.5i
Supply of money, M°=200
Price level, P=2
i. Write equations for IS-LM and solve for equilibrium level of income and rate of
interest.
ii. Compute the value of fiscal and monetary policy multipliers.
B) If capital stock of a nation rises, what will be its effect on output, employment and the
real wage? Explain in the context of Classical model using diagrams.
C) Explain the process of multiplier. What is the relationship between marginal
propensity to consume and multiplier? (8,5,5.75)
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Q6. A) Suppose that the economy is having disequilibrium in the goods markets and the
money markets. How can this economy achieve equilibrium? Show the dynamics of
equilibrium and the adjustment in both the interest rate and level of income.

B) Explain the concept of Crowding out by using suitable diagram. Is Crowding out
likely?

C) Discuss the impact of an investment subsidy on interest rates, income and investment

in the economy, by using IS-LM framework. (6,6.75,6)
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